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Type : 2 decoder (1 out of VN )
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Two — Dimensional Addressing Scheme

EX1) Assume d=2, n=6 find:
1. no. of rows?

2. no. of columns?

3. Total cells?

4. no. of drivers?
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5. no. and type of decoders?

6. Draw internal structure for this memory?
Sol.) n=6—— a,=3 —— a,=3

no. of rows = Nx=23=8

no. of columns = Ny=23=8

N= Nx * Ny= 8*8= 64 no. of total cells
No. of drivers = 2VN =2V64 =2*8=16

Two decoder (1 out of 8)
Internal structure for this memory:
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EX2) Assume d=2, n=9 find:
1. The rows
. The columns
. Total cells

2

3

4. no. of drivers?

5. no. and type of decoders?
6

. Draw internal structure for this memory?

Sol.) n=9—— a,=5——>a,=4

1. no. of rows = Nx=2°= 32
2. no. of columns = Ny= 2%= 16
3. N= Nx * Ny=2°*24 =29 = 512 no. of total cells
4. No. of drivers = Nx + Ny= 32+16= 48
5. One decoder (1 out of 32)
One decoder (1 out of 16)
6. Internal structure for this memory:
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EX3) Assume d=2, n=8 find:

1. no. of rows?
2. no. of columns?
3. Total cells?

4. no. of drivers?

5. no. and type of decoders?

Address Bus (ay)

6. Draw internal structure for this memory?
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EX4) Assume d=2, N=256 find:
1. no. of rows?

2. no. of columns?

3. no. of drivers?

4. no. and type of decoders?

5. no. address line?

Sol.) N=256 = 28

1. no. of rows = Nx=2%= 16
2. no. of columns = N,=2%= 16

3. No. of drivers = 2N =2V256 =2*16=32

4. Two decoder (1 out of 16)
5. Address line = 256=28=8

EX5) Assume d=2, N=32 find:
1. no. of rows?

2. no. of columns?

3. no. of drivers?

4. no. and type of decoders?
5. no. address line?

6. Draw internal structure for this memory?
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N=32 = 2°
n=b— > a,=3 —— a,=2

1. no. of rows = Nx=23=8
2. no. of columns = Ny=2%2=4
3. no. of drivers = Nx+ Ny=23+22=12
4. One decoder (1 out of 8)
One decoder (1 out of 4)
5. N=32=2%=5 no. address line
6. Internal structure for this memory:

A0 =

Al —>

¥

X A Coo A~ Co,1 Vs Co,2 'y Co;3
1/23 -> . .
| -
Q
©
§ - C7o0 L] Cra C7,2 1 Gis
a p Y 4 + ¢ ~ i
Decoder 1/22 Y
AO Al

Address Bus (ay)

7




Computer Architecture

EX6) Using 2-dimensional RAM organization scheme, if N=1K find:
1. no. of rows?
2. no. of columns?
3. no. of drivers?
4. no. and type of decoders?

5. Draw internal structure for this memory?

Sol.) N=210—— 3,=5 ——> a,=5

1. no. of rows = Nx=2°= 32
2. no. of columns = Ny= 2°= 32

3. no. of drivers =2VN =2V1024 =2x32=64

4. Two decoder (1 out of 32)

5. Internal structure for this memory:
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